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HW3 grading rubric

1) 28 pts total

1a) 2

1b) 4

1c) 2

1d) 2

1e) 9 (0.5 for each entry in the table)
1f) 9, 1 for each plot

2) 8 pts total

2a) 2 pts

2b) 4 pts; 1 for right answer, 1 for some reasoning, 2 for error calc
2¢) 2 pts.

3) 4 pts, 2 for each frequency
4) 12 pts, 1 per blank

5) 33 pts total

5a) 4 pts

5b) 6 pts: 2 for plot, 2 each for min/max Idp

5c) 4 pts: 2 for Vi ; 2 for plot

5d) 4 pts: 2 for Vi ; 2 for plot

5e) 7 pts: 1 for "nmos off" region, 1 for pmos triode, 1 each for the

X and Y location of the beginning of high gain, 1 each for the X and Y
location of the end of high gain, 1 for nmos triode. The triode regions
should be vaguely quadratic, and the high gain region should be a straight
line.

5f) 2 pts

5g) 6 pts




